HOLIDAY HOMEWORK FOR CLASS – IX

हिन्दी –
1. विद्यालय के वार्षिकोत्सव का एक प्रतिवेदन तैयार करें।
2. निबंध लेखन- ‘काल करे सो आज कर, आज करे सो कल’
3. फीचर लेखन – बाल-मजदूरी, अशिक्षा
4. आलेख लेखन – बेरोजगारी की समस्या, मानव जीवन पर संगीत का प्रभाव
जनसंचार के सभी प्रश्न-उत्तरों को दोबारा लिखें।
                                
SUBJECT: ENGLISH
1. Due to some unavoidable reason you cannot return the books borrowed from your library in time. Write a letter to the Library in charge.
2. Narrate your horrifying experience on a stormy night when you were alone at home, as your parents had gone out to attend a wedding, and the lights went out. write the narrative in 150-200 words.
3. Make a note of the chapter The Adventure.
4.  Explain the issue of generation gap n the poem ‘Father to Son”.
5. The poem “Childhood” is the record of a journey from innocence to experience- explain.
6. Draft a poster to be issued by Delhi police cautioning people not to touch any unclaimed object.
7. Design a poster on the ill effect of junk food on health.
8. Narrate an incdent that changed your life.(150-200)
9. What is the educational significant of the chapter “BIRTH”.
10. What is your view of an ideal teacher? Write your answer on the basis of your understanding of “The Browning Version”
11. Q6. The following passage has not been edited. There is one error in each line. Write the incorrect word and the correction against each line of the passage. (1×4 = 4) Incorrect Correction 
The Nile is a longest river in                                               e.g. a the the
         world. Almost all a population                                  (a) _____ _____ 
of Egypt and his cultivated land                                           (b) _____ _____
 is mostly on the ﬂ ood plains of                                         (c) _____ _____
 the Nile. Cairo, the capital in Egypt                                    (d) _____ _____
 is at the head of the Nile Delta.
12. Q7. Rearrange the following groups of words and phrases to form meaningful sentences: (1 × 4 = 4) (a) the temple/architecture/form an/sculpture and painting/of/essential part (b) is/situated in/Konark Temple/north-eastern part of Puri/the (c) of a chariot/the temple/in the form/is (d) Narasimhadeva/the/king/by/is/that/it/was/believed/temple/built
13. Q5. Fill in the gaps by choosing the most appropriate words from the options given below. (1× 4 = 4) The king of Benares was anxious to marry. Many kings came (a) _____ diﬀ erent corners of the country (b) _____ oﬀ er him their daughters. But he did not choose any of them. He sat (c) _____ the window and looked out (d) ______ the market places.
 (a) (i) to (ii) from (iii) where (iv) of 
(b) (i) from (ii) to (iii) one (iv) by 
(c) (i) by (ii) of (iii) to (iv) on 
(d) (i) on (ii) of (iii) for (iv) to
14. Q5. Fill in the gaps by choosing the most appropriate words from the options given below. (1× 4 = 4) Jawaharlal Nehru went from village to village (a) ______ foot, by train, bullock cart and (b) _____ bicycle. He ate with the peasants, lived in their mud huts, talked to them (c) _____  addressed their meetings. He lost his shyness and learnt (d) _____speak in public.
 (a) (i) at (ii) by  (iii) on (iv) in 
(b) (i) on (ii) in  (iii) by (iv) at
 (c) (i) or (ii) and (iii) with (iv) so 
(d) (i) to (ii) in  (iii) on (iv) for
15. Q6. The following passage has not been edited. There is one error in each line. Write the incorrect word and the correction against each line of the passage. (1 × 4 = 4) Incorrect Correction A motorbike rally was organise e.g. org anise organised to spreading the goodwill message (a) _____ _____ 
of Commonwealth Games. It was ﬂ ag                                                       (b) _____ _____ 
oﬀ , at Delhi on it mission to Leh.                                                                (c) _____ _____ 
Thirty-ﬁ ve bikers participate with the rally.                                              (d) _____ _____
16. Q7. Rearrange the following groups of words and phrases to form meaningful sentences: (1 × 4 = 4) 
(b) him/gave/his/to eat/master/milk and bread
 (c) for/took/he/long walks/Raju/the park/in
 (d) with/he/Raju/had given/to play/ball/a red
17. Recently some property of ypur school was vandalized by some unknown people. The principal of the school has asked you to prepare a report on the incident. Draft a report in 150-200 words.
Maths
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HOLIDAY HOMEWORK ( WINTER BREAK ) FOR CLASS 11TH BIOLOGY
1:- Differentiate between
a) IRV and ERV 
b) Inspiratory capacity and expiratory capacity 
c) Vital capacity and total lung capacity 
2:- Describe the role of hemoglobin in the transport of respiratory gases?
3:- Name the primary site of exchange of gases in our body name the primary site of exchange of gases in our body.
4:- Explain about the composition of blood.
5:- Define RQ what is its value for fats?
6:- How many molecules of NA DH are formed from one turn  of Kreb cycle?
7:- Name the two monosaccharides that readily enter the glycolytic pathway.
8:- What are the product formed by the splitting of a fructose 1,6 bi phosphate.
9:- Where does electron transport system operate in mitochondria explain the systems giving the role of oxygen.
10:- What is oxidative phosphorylation?
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Three Dimensional coordinate Geometry

Determine the perpendicular distances of the point
(-4, 3, 4) from the coordinate axes.

C is a point on the line-segment joining the points A
(4, -2, 6) and (2, -3, 4); if y-coordinate of C is 0,
find its z-coordinate.

The coordinates of the vertex A of the triangle ABC are
(2, 5,-3); if the centroid of the triangle is at
(=2, 1, 3), find the coordinates of the mid point of the
side BC.

Show that the points (0, 7, 10), (-1, 6, 6) and
(-4, 9, 6) are the vertices of a right angled isosceles
triangle.

The coordinates of the mid points of the sides BC, CA
and AB of the triangle ABC are (5, 2, 8), (2, -2, -3)
and (2, -3, 4); find the coordinates of the centroid of
the triangle.

6. Find the ratios in which the yz-plane, zx -plane and
xy-plane divide the line segment joining the points
(-2, 4, 7) and (3, -5, 8).

7. The points A and B trisect the line-segment joining the
points P(2,1,-3) and Q(5,-8,3); find the
coordinates of the points A and B.

8. The coordinates of the vertices A, B and C of the
triangle ABC are (-1, 4, 2), (3, -2, 0) and (1, 2, 4)
respectively; find the length of the median through the
vertex A.

9. The point P is equidistant from the points (-1, 4, 2),
(2,1, 2), (3, 2, 2) and (0, 5, 6); find the coordinates
of the point P.

10. P (-2, -3, 6) is a given point and O isﬂlefﬂswm‘i
the coordinates of seven other po
dimensional space such that the distan
from the origin O is equal to OP.
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PRACTICE SET OF LIMIT AND DERIVATIVES "
Each question carry one mark:
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PRACTICE SET OF CONIC SECTIONS -

ich question two marks
Find the equation of the circle with centre(1/2 ,1/3) and radius 3/2,
Find the equation of the circle with centre (-a, -b) and radius Va? — b?.
Find the centre and radius of the circle x* + y? - 4x - 8y - 45 = 0
Does the point (-2.5, 3.5) lie inside, outside or on the circle x2 + y2 = 257
Find the equation of the parabola that satisfies the following conditior ertex (0, 0); focus (3, 0)
Find the equation of the parabola that satisfies the following conditions: Vertex (0, 0), passing through (5, 2)
and symmetric with respect to y-axis
7. Find the coordinates of the focus, axis of the parabola, the equation of directrix and the length of the latus
rectum for x2 = -9y
8. Find the coordinates of the foci and the vertices, the eccentricity, and the length of the latus rectum of the
hyperbola 9y? - 4x° = 36
9. Find the point on the parabola y* = —36x at which the ordinate is three times the abs 3
10. Find the co-ordinates of the point on the ellipse x* + 2y? = 4 whose eccentric angle is 60°.
ich ion carry 4 marl
11. Find the equation of the circle passing through the points (2, 3) and (-1, 1) and whose centre is on the line x-
3y-11=0.
12. Find the equation of the circle passing through (0, 0) and making intercepts a and b on the coordinate axes.
. Find the coordinates of the foci, the vertices, the length of major axis, the minor axis, the eccentricity and the

N

2 g
length of the latus rectum of the ellipse %+ 2= 1.

14. Find the equation for the ellipse that satisfies the given conditions: Vertices (0, £13), foci (0, +5)

15. Find the equation for the ellipse that satisfies the given conditions: Centre at (0, 0), major axis on the y-axis
and passes through the points (3, 2) and (1, 6).

16. Find the equation of the hyperbola satisfying the give conditior

17. Find the equation of the hyperbola satisfying the give conditior

18. The equation of the directrix of a hyperbola is is x-+y- Its
equation of the hyperbola.

19. Show that the difference of the focal distance of any point of the hyperbola 3x* — 4y? = 48 is constant.

20. Find the eccentricity of the hyperbola x2 — y? = 1. If § and §, are the foci and P be any point on this
hyperbola. Prove that, CP*=SP.S/P.

21. Find the equation of the ellipse whose eccentricity is ¥ focus (-1,1), directrix is x-y+3=

22. Find the equation of to the auxiliary circle of the ellipse 4x? + 9y? — 24x — 36y +36 = 0

23. The directrix of a parabola is x-+y+4=0 and vertex is the point (-1,-1). Find the position of focus and the
equation of the parabola.

24. A parabola passes through the ponts (0.0).(2,2),(-2,6) and its axis s parallel to y-axis. Find its equation

Foci (4, 0), the latus rectum is of length 12
‘0ci(0,4/10) , passing through (2, 3).
s (-1.1) and eccentricity is 3 . find the

focus

2 4
25. The ellipse 2 + 3= passes through the point of intersection of the lines 7x+13y-87=0 and 5x-8y+7=0 and its
length of latus rectum is 222 find a and b.

26. Ejand e; are respectively the eccentrecities of of a hyperbola and its conjugate. Prove that = + % = 1.

27. An arch is in the form of a semi-ellipse. It is 8 m wide and 2 m high at the centre. Find the height of the arch
at a point 1.5 m from one end.

28. A rod of length 12 cm moves with its ends always touching the coordinate axes. Determine the equation of the
locus of a point P on the rod, which is 3 cm from the end in contact with the x-axis.

29. Find the area of the triangle formed by the lines joining the vertex of the parabola x2 = 12y to the ends of its
latus rectum,

30. A man running a racecourse notes that the sum of the distances from the two flag posts form him is always 10
m and the distance between the flag posts is 8 m. find the equation of the posts traced by the man.

31. An cquilateral triangle is inscribed in the parabola y2 = 4 ax, where one vertex is at the vertex of the parabola.
Find the length of the side of the triangle.





